NESTED LOOP ANSWER
Your program should look something like this:

1 : ClrDraw

2 : 0→R

3 : While R<50

4 : For(X,-R,R)

5 : √(R²-X²)→Y

6 : Pt-On(X,Y)

7 : Pt-On(X,-Y)

8 : End

9 : R+1→R

10: End
Behind the scenes:

1.  The screen is cleared

2.  The value 0 is assigned to the variable ‘R’

3.  While whatever value ‘R’ holds is less than 50, execute the following code

4.  Assign the value of negative [whatever R is] to the new variable ‘X’, and keep counting up until it is equal to its reciprocal

5.  The square root of the square of R minus the square of X is stored as the variable ‘Y’

6.  A pixel is displayed at the coordinates ([Whatever X is], [whatever Y is]) 

7.  Display a pixel at (X,[the negative value of Y])

8.  End the FOR loop when -R is -50 and R is 50

9.  The value of ‘R’ is stored as its previous value plus one

10.The WHILE loop ends when R is equal to the value 50

